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MASTER OF COMMERCE 

Term-End Examination 
co 
co 	 June, 2011 
wzd- 
CD MCO-05 : ACCOUNTING FOR MANAGERIAL 

DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. Define Accounting. How does it help interested 

parties in business ? Also explain briefly the 

objective of accounting. 	 5+10+5=20 

2. Explain the role of Ratio Analysis in the 

interpretation of financial statements. Also state 

the limitations of ratio analysis. 	 10+10=20 

3. What do you mean by Funds Flow Statement ? 

Prepare a statement of sources and applications 

of funds by taking an imaginary Balance Sheet. 
8+12=20 

4. Explain briefly the terms 'Standard Cost' and 

'Standard Costing'. Enumerate the advantages 

and limitations of standard costing system. 6+14=20 
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5. "A manager requires information about the past 

to control and plan for the future." Comment 

upon this statement and state how budgeting helps 

in this respect ? 	 10+10=20 

6. Define 'marginal costing'. What is its utility in a 

large manufacturing concern ? 	 8+12=20 

7. (a) How is the tax liability determined in a 

Company ? 	 8+12=20 

(b) Trial Balance of AB Ltd. as on 31st March 

2009 (Extracts) 

Name of Account 	 Dr. (Z) Cr. (Z) 

Advance Income-tax for 2007-08 2,20,000 

Advance Income-tax for 2008-09 2,30,000 

Provision for Income-tax 2007-08 	2,00,000 

Adjustments : 

(i) The income-tax assessment for 2007-08 

completed during the year 'showed 

gross tax demand of 2,40,000 but no 

effect has been given for this in 

accounts. 

(ii) Provision for income tax is to be made 

for 2,10,000 for 2008-09. 

Show relevant extracts in the Final 

Accounts of 2008-09. 
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8. AB company manufactures two products X and Y 20 

and sells them through two zones East and West. 

From the following information, prepare a Sales 

Budget showing the budgeted and actual sales of 

current year. 

Product 
	Budgeted Sales 	 Ac tual  Sales 

East 	West 	East 	West 

X 	4,000 @ Z 9 6,000 @' 9 5,000 @ Z 9 7,000 @ Z 9 

Y 	3,000 @ Z 21 5,000 @ Z 21 2,000 @ 21 4,000 @ Z 21 

Adequate market studies reveal that product X is 

popular but underpriced. It is observed that if 

the price of X is increased by 1, it will still find a 

ready market. On the other hand, Y is overpriced 

and the market could absorb more if sale price of 

Y is reduced by 1. The management has agreed 

to give effect to the above price changes. 

As a result of the above decisions, the 

following estimates have been prepared by Zonal 

Managers : 

Product East West 

X 	+ 10% + 5% 

Y 	+20% +10% 

With the help of an intensive advertisement 

campaign, the following additional sales over the 

estimated sales of zonal managers are possible 

Product East West 

X 600 700 

Y 400 500 
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9. 	A company produces a product from a single 

material. 	It operates a standard costing system 

and furnishes you the following information : 
5+5+5+5=20 

Particulars 	Budget 	Actual 
Production in units 800 600 

Materials : 

Total quantity (kg.) 1,600 1,300 

Total amount 32,000 27, 300 

Labour : 

Total Hours 240 200 

Total amount 3,000 3,000 

You are required to compute the following 

variances : 

(a) Material Price Variance 

(b) Material Usage Variance 

(c) Labour Rate Variance 

(d) Labour Efficiency Variance 
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MASTER OF COMMERCE 

CO 	 Term-End Examination 

December, 2011 

MC0-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. What is cost sheet ? Prepare a cost sheet using 
imaginary figures. 	 8+12 

2. What is Cash Flow Statement ? How is it 
prepared ? Explain the difference between cash 
flow statement and cash budget. 	 6+8+6 

3. Define 'flexible budget'. Outline the advantages 
and the procedure for setting up a flexible budget. 

5+5+10 
4. Define Responsibility accounting. Prepare a 

responsibility report using imaginary figures. 	6+14 

5. What do you understand by 'Accounting Report' ? 
What are the essential characteristics of a good 
report for management ? 	 10+10 
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6. What is the significance of the term 'variance' 5+15 
related to standard costing ? What type of 
variances are computed for materials, labour and 
factory overheads ? Explain briefly. 

7. From the following balance sheet of a company, 
find out : (i) Quick Ratio, (ii) Proprietory Ratio, 

(iii) Capital Gearing Ratio, (iv) Debt Equity Ratio. 
Balance Sheet as at 31st December 2009 5x4=20 

Liabilities Amount 
Z 

Assets Amount 
Z 

Equity Share Capital 2,00,000 Fixed Assets 1,60,000 
Debentures 1,50,000 Inventory 40,000 
Current Liabilities 50,000 Sundry Debtors 1,40,000 

Bills Receivable 20,000 
Cash 40,000 

4,00,000 4,00,000 

8. From the following information, prepare a Cash 20 
Budget by the Balance Sheet Method : 
Balance Sheet of x y Ltd. 
as on 31st December 2009 

Z Z 
Preference Share Capital 3,32,500 Building 3,30,000 
Equity Share Capital 1,25,000 Plant at cost 2,20,000 
Debentures 78,500 Investment 1,00,000 
Accumulated 50,000 Stock 61,000 
Depreciation Debtors 49,000 
Profit and Loss Account 1,33,500 Cash 36,800 
Creditor 77,300 

7,96,800 7,96,800 
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Additional Information : 

(a) New Plant Costing 80,000 was purchased 

during the year ; 

(b) An old plant costing 60,000 having 
accumulated depreciation of 42,000 was 

sold for 10,000, 

(c) Investments costing 20,000 were sold for 

22,000, 

(d) Depreciation charged during the year was 

22,000, 

(e) Balance of P and L. A/c for the year ended 

31st Dec. 2009 was 2,87,500, 

(f) Budgeted figures for 31st 	Dec. 2009 : 

Debtors 83,200 ; stock 92,500 ; 
creditors 1,00,000 ; debentures 50,000 ; 
equity share capital 1,75,000. 

9. 	Following information is available in relation to a 

factory. 	 5x4=20 

Fixed costs 	 20,000 

Sales Price per unit 	20 

Variable cost per unit 	16 

State the increase/ decrease in break-even point 
in the following situations : 

(a) 20% increase in Fixed Costs. 

(b) 10% increase in Variable Costs. 
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(c) 10% increase, in Fixed Costs and 5% 
decrease in variable costs. 

(d) 10% decrease in Fixed Costs and 20% 
increase in variable costs. 
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CD 

MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. "Accounting forms an important part of the 

information system of an organisation." Discuss. 

Also identify the parties interested in accounting 

information and the way it helps them. 	10,10 

2. (a) What are operating and non-operating 10 

profits ? Explain with examples. 

(b) What do you understand by "grouping" 10 

and "Marshalling" of assets and liabilities ? 

Discuss. 

3. Explain the essentials of an effective budgeting 8,12 

system, and state the requisites of establishing a 

system of budgeting. 
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4. (a) Distinguish between Standard Costing and 10 
Budgeting. 

(b) How do you ensure the success of a 10 
standard costing system ? Explain. 

5. Discuss the role of ratio analysis in evaluating 12,8 
profitability of a business enterprise. Also state 

its limitations. 

6. Define cash flow statement. Give its format as 4,8,8 
per Accounting Standard 3 and state its uses. 

7. (a) Explain the concept of Responsibility 12 
Accounting and state the requisites for its 

success. 

(b) Write an explanatory note on Social 	8 
Accounting. 

8. Mukta Ltd furnishes the following information 

relating to budgeted sales and actual sales for the 

month of March 2010. 	 5,5,5,5 

Standard Actual 
Product Rate Rate 

Units ( 
Rs.) (Rs.) 

A 1200 15 880 18 
B 800 20 880 20 
C 2000 40 2640 38 
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you are required to calculate : 

(a) Sales price variance 

(b) Sales volume variance 

(c) Sales mix variance 

(d) Sales quantity variance 

9. 	Neha stationers manufacture plastic files for 
office use. The break up of its cost and sales is as 
follows : 	 5,5,10 

• Variable Cost Rs. 60 per file 

• Fixed Cost Rs. 80,000 per annum 

• Production Capacity : 4,000 files per annum 

• Selling Price : Rs. 100 per file 

you are required to compute the following : 

(a) Break even point.  

(b) Number of files to be sold to earn a net profit 
of Rs. 20,000. 

(c) If the firm manufactures and sells 500 files 

more per year with an additional fixed cost 
of Rs. 4,000, what should be the selling price 
to earn the same amount of profit as in (b) 
above ? 
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MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. Discuss various methods of costing giving 20 

examples of Industries where they are applicable. 

2. Distinguish between Reserves and Provisions. 8,12 

Explain the various types of Reserves usually 

Created by business firms. 

3. Explain the various Techniques of Financial 12,8 

Analysis. In this context, give the format of 

common size statements. 

4. Distinguish between cash flow and fund flow 

statement. How will you arrive at cash flow from 

investing and financing activities ? Explain with 

example. 	 10,10 
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5. 	(a) Explain three budgetary control ratios with 12,8 
examples. 

(b) Define performance budgeting and state its 

main objectives. 

	

6. 	Write explanatory notes on : 	 10,10 

(a) Environmental Accounting 

(b) Strategic Cost Management 

	

7. 	A retail dealer in Auto Parts is currently selling 

15,000 Auto Parts annually. He supplies the 

following details for the year ended December 31, 

2009 : 	 5,5,5,5 

Details Amount (Rs.) 
Selling Price Per unit 200 

Variable Cost Per unit 120 

Fixed costs : 

Staff Salaries 3,00,000 

General Office Cost 1,00,000 

Adversting Cost 80,000 

(a) Calculate the break even point and margin 

of Safety. 

(b) Assume that 12,000 Auto Parts were sold 

during the year. Find out the net profit of 

the firm. 
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Assuming that in 2010 the rate of factory over 

heads went up by 20%, dist. expenses went down 

1 
by 10%, and selling expenses went up by 12 —

2 
%; 

at what price should the work be quoted so as to 

earn the same rate of profit on the selling price as 

in 2009. 

Show full working. It may be noted that factory 

overheads are based on direct wages while 

administration, selling and distribution expenses 

are based on factory cost. 

9. 	The standard labour component and the actual 20 

labour component engaged in a week for a job 

are as under : 

Details 
Skilled 

workers 

Semi skilled 

workers 

Unskilled 

workers 

Standard number of 

workers in the gang 
40 24 16 

Standard wage rate Per 
35 25 15 

Hour (Rs.) 

Actual number of workers 

engaged in the gang 
35 30 15 

Actual wage rate per hour 

(Rs.) 
36 28 14 

During the 45 hour working week, the gang 

produced 3,240 standard labour hours of work. 

Calculate different labour variances. 
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(c) If it is decided to introduce Selling 
Commission of Rs. 5 per Auto Part, how 
many Auto Parts would require to be sold 
in a year to earn a net income of 
Rs. 1,20,000. 

(d) Assuming that for the year 2010 an 
additional Salary of Rs. 1,50,000 is 
anticipated, and price of one Auto Part is 
likely to be increased by 10%, what should 
be the break-even point in number of Auto 
Parts and Sales revenue. 

8. 	The following figures have been obtained from 20 
the cost records of a manufacturing company for 
the year 2009 : 

Rs. 
Cost of materials 	 2,40,000 
Direct wages 	 2,00,000 
Factory overheads 	1,20,000 
Distribution expenses 	56,000 
Admin. Expenses 	 1,34,400 
Selling expenses 	 89,600 
Profit 	 1,68,000 
A work order was executed 
in 2010, and the following 
expenses were incurred : 
Cost of materials 	 32,000 
Direct wages 	 20,000 
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MCO-05 

MASTER OF COMMERCE 

Term-End Examination 

December, 2013 	05866 
MCO-05 : ACCOUNTING FOR MANAGERIAL 

DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. What do you understand by Accounting concepts 
and conventions ? Explain any three Accounting 
concepts with their accounting implications. 5+15=20 

2. Explain with examples common size statements 
and comparative statements. 	 10+10=20 

3. Explain the concepts of 'Zero Based Budgeting° 
and 'Performance Budgeting' and state their 
advantages. 	 10+10=20 

4. What is standard costing ? State the steps it 
involves and the advantages it provides. 4+6+10=20 

5. Explain the concepts of 'marginal' cost and 
'marginal costing', and discuss how marginal 
costing is regarded a useful tool in managerial 
decision-making. 	 5+15=20 
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6. What do you understand by the term 'Reporting 

to Management' ? Discuss briefly the matter that 

you would deal with while reporting to 	6+8+6=20 

(a) Board of Directors and 

(b) Marketing Managers. 

7. 	(a) Mr. Ram Kumar has a sum of Z 3,00,000 

which is invested in a business. He wishes 

15% return on his fund. It is revealed from 

the present cost data analysis that variable 

costs of operation are 60% of sales and fixed 

costs are Z 1,50,000 p.a. On the basis of this 

information, you are required to find out : 

(i) Sales volume to earn 15% return 

(ii) Shut-down point of business, if he 

would spend Z 50,000 even if business 

has to be closed. 	 5+5+10=20 

(b) State the essentials for success of 

'responsibility accounting'. 

8. 	Standard Cost of product is : 

Time : 	6 hours per unit 

Rate : 	Z 4 per hour 

Actual cost : 

Production 	1,500 units 

Hour taken 	7,600 

Idle time (hour) 400  

Total hour 	8.000 

5+5+5+5=20 
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Total Labour Cost amounted to Z 40,000. Calculate 
(a) Labour Cost of Variance 
(b) Labour Rate Variance 
(c) Labour Efficiency Variance and 
(d) Labour Idle Time Variance. 

9. 	The following is the Balance Sheet of X Y Ltd. : 
Balance sheet 	 4x5=20 

Z Z 
Equity Share Capital 80,000 Intangible Assets 48,000 
Reserver and Surplus 40,000 Fixed Assets 1,12,000 
Mortgage 64,000 Investments 8,000 
Bank overdraft 8,000 Stock 24,000 
Creditors 32,000 Debtors 24,000 
Provision for Tax 16,000 Bank Balance 24,000 

2,40,000 2,40,000 

Calculate the following ratios : 
(a) Liquid Ratio 
(b) Current Ratio 
(c) Total Debt Equity 
(d) Proprietory Ratio 
(e) Gearing Ratio 

MCO-05 	 3 

Download More:- https://www.ignouassignmentguru.com/papers



Tsgri cii4 1cf 40,000 	2TT I 
(a) 351:1 oind 

(b) tf 'FT-47T 

(c) 5A-14 Ohl wraT fa-qTtir2,Tr 
(d) 5;114 	7:11:17T fa--qTur 

9. 	faidSri. f 31fk fqTar 19-PT t : 	 4x5=20 
aTrrtfw 

z z 
80,000 48,000 -midi- 	3#11:1 311:14 	-14-14irt4 

40,000 1,12,000 Tfvzi -R-4 a-Trat-  7:PAT 	..14-1417144i 

--Al-  64,000 8,000 FIF-141 +I 

tk 31fqfq--*-Isi 8,000 rf-d-zrr 24,000 

32,000 24,000 -Kit -Kit 

16,000 *a.) 	ti 24,000 cf.,4-k-r--4 31-r 	7 

2,40,000 2,40,000 

-14-11 cnd 3T-frrd't 	: 

(a) cl 	cI I 31-q-cfrff 
(b) -Ic 3 L4 r1 

(c) *of ff-Wt 31TO 
(d) I 	ccf 3-17M 
(e) "t01- 	3-1-11:17 

MCO-05 	 6 

Download More:- https://www.ignouassignmentguru.com/papers



MCO-05 

n 

No. of Printed Pages : 6 

MASTER OF COMMERCE 

Term-End Examination 

June, 2014 

MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Weightage : 70%  

Note : Attempt any five questions. All questions carry equal 

marks. 

1. Discuss the role and functions of management 8+12 
accountant in a modern business organisation. 

2. Describe the different methods of costing, and 14+6 
state the particular industries in which these can 
be applied. 

3. Explain the pre-requisites of establishing a system 20 
of budgeting. 

4. "Marginal costing is a useful tool to management 5+15 
in taking various policy decisions, profit planning 
and cost control". Discuss the statement and 
explain any four managerial problems where 
marginal costing is helpful. 

5. Write explanatory notes on any two of the 
following : 	 10+10 
(a) Flexible Budget 
(b) Zero Base Budgeting 
(c) Performance Budgeting 
(d) Budgetary Control Ratios 
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6. 	What is meant by Transfer Pricing ? Discuss 6+14 
various methods of transfer pricing. 

7. 	From the following information compute : 	4x5=20 

(a) Debt equity ratio 

(b) Proprietary ratio 

(c) Capital gearing ratio 

(d) Quick ratio 

Balance Sheet of R Ltd. as on 31st March 2011 

Liabilities Rs. Assets Rs. 

Equity share capital 40,000 Land 22,000 

8% Preference 
share capital 

20,000 Building 24,000 

Reserves 10,000 
Plant and 
Machinery 

38,000 

Profit and Loss 
Account 

5,000 Furniture 5,000 

10% Debentures 45,000 
Sundry 
Debtors 

22,000 

Trade creditors 9,000 Stock 13,000 
Outstanding 
expenses 

2,000 Cash 14,000 

Provision for 
Taxation 

3,000 
Prepaid 
expenses 

2,000 

Proposed Dividend 6,000 

1,40,000 1,40,000 
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8. 	The following information is available from the 
records of a company 	 5x4=20 

Standard wages Actual wages 

Skilled : 
90 workers @ Rs. 2 
per hour 

80 workers @ Rs. 
2.50 per hour 

Unskilled : 
60 workers @ Rs. 3 
per hour 

70 workers @ Rs. 2 
per hour 

Budgeted hours : 
1000 Actual hour : 900 

You are required to calculate the following : 
(a) Labour Cost Variance 
(b) Labour Rate Variance 
(c) Labour Efficiency Variance 
(d) Labour Mix Variance 
(e) Revised Labour Efficiency Variance 

9. 	The cost information computed by the cost 
accountant is as follows : 	 4x5=20 
Sales 	 1,00,000 units 
Selling price 	Rs. 10 per unit 
Variable cost 	Rs. 6 per unit 
Fixed cost 	Rs. 60,000 per annum 
Compute the following : 
(a) Break even point in units and value 
(b) Sales volume to make a profit of Rs. 40,000 
(c) Sales volume to make a profit of Rs. 2 per 

unit 
(d) Sales volume to make a profit of 30% on 

sales 
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MASTER OF COMMERCE 

Term-End Examination 

December, 2014 

MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 

marks. 

	

1. 	What is meant by analysis of Financial 
statements ? Briefly explain its usefulness and 
limitations. 	 4+8+8 

	

2. 	Distinguish between : 	 4x5=20 
(a) Reserves and Reserve fund 
(b) General Reserve and specific Reserve 
(c) Reserves and Provisions 
(d) Capital expenditures and Revenue 

expenditures 

	

3. 	Write explanatory notes on any two of the 
following : 	 10+10 
(a) Standard Costing 
(b) Budgetary Control 
(c) Variance Analysis 
(d) Concept of Standard Hour 

	

4. 	"Performance budgeting requires preparation of 20 
periodic performance report". Explain 

MCO-05 	 1 	 P.T.O. 
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5. 	State the meaning and significance of the 
following ratios : 	 4x5=20 
(a) Price earning ratio 
(b) Interest coverage ratio 
(c) Debtors turnover ratio 
(d) Return on equity 

	

6. 	(a) What are the managerial objectives of 12+8 
creating Secret Reserves ? How these 
reserves are created ? 

(b) How is activity based costing different from 
traditional costing ? Explain. 

	

7. 	LMW Ltd., a multi product company, furnishes 
the following data : 	 5x4=20 

Particulars Period 1 Period 2 

Sales (Rs.) 45,000 50,000 
Total Cost (Rs.) 40,000 43,000 
Assuming that there is no change in price and 
variable costs and that fixed expenses are incurred 
equally in the two periods. Calculate the 
following : 
(a) Profit volume (Pv) Ratio 
(b) Fixed Expenses 
(c) Break Even Point 
(d) Percentage Margin of safety to sales in 

period 2 
(e) Sales required to earn profit of Rs. 10,000 

8. 	A factory manufactures two types of articles 
namely X and Y. Article X takes 10 hours to make 
and article Y requires 20 hours. In a month 
(25 days of 8 hours each) 500 units of X and 
300 units of Y are produced. The budget hours 
are 8,500 per month. The factory employs 60 men 
in the department concerned. Compute Activity 
Ratio, Capacity Ratio and Efficiency Ratio. 	7+7+6 

MCO-05 	 2 

Download More:- https://www.ignouassignmentguru.com/papers



9. 	The following facts relate to two machines : 
	

20 

Existing Machine New Machine 

Capital Cost (Rs.) 10,00,000 40,00,000 

Marginal Cost Per 60 52 

Unit (Rs.) 
Selling Price per Unit 120 120 

(Rs.) 
Fixed Expenses (Rs.) 1,00,000 4,00,000 

Annual Output (units) 20,000 40,000 

Life of Machines 
(years) 

10 10 

The existing machine has worked for 5 years. Its 
present Resale value is Rs. 4,00,000. The scrap 
value of the machine may be taken as nil. Advise 
whether new machine should be installed if rate 
of interest is 10%. 
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MASTER OF COMMERCE 

Term-End Examination 

June, 2015 

MC0-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage : 70% 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. What do you understand by 'Management 
Accounting' ? Explain and state the functions of 
a Management Accountant. 	 8+12 

2. What is ratio analysis ? Discuss the various ratios 
that are generally calculated to determine the 
liquidity and solvency of a business 
organisation. 	 4+8+8 

3. What is Cash Flow Statement ? Give its broad 
format and state its uses. 	 5,10,5 

4. Define 'flexible budget'. How does it differ from 
fixed budget ? Outline the advantages of flexible 
budget. 	 6+7+7 

5. Explain briefly the terms 'standard cost' and 
'standard costing'. Enumerate the advantages 
and limitations of standard costing. 	6+7+7 

MCO-05 	 1 	 P.T.O. 

Download More:- https://www.ignouassignmentguru.com/papers



6. 	Write notes on any two of the following : 	10+10 
(a) Inflation accounting 
(b) Human resource accounting 
(c) Responsibility accounting 

7. Prepare Funds Flow Statement on the basis of the 
following data : 	 10+10 

Balance Sheet of XY Co. Ltd. 
31-12-12 31-12-13 

Z Z 
Gross Block 1,00,000 1,40,000 
Less : Depreciation 40,000 55,000 
Net Fixed Block 60,000 85,000 
Current Assets 
Cash 20,000 10,000 
Investments 10,000 - 
Closing Stock 60,000 1,00,000 
Sundry Debtors 30,000 40,000 .  

Total Assets 1,80,000 2,35,000 
Capital and Liabilities 
Equity Capital 50,000 50,000 
Reserve Fund 80,000 1,10,000 
6% Debentures NIL 30,000 
Sundry Creditors 20,000 25,000 
Bills Payable 20,000 5,000 
Other current liabilities 10,000 15,000 

1,80,000 2,35,000 
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8. ABC Ltd. has 1,00,000 share capital and 12,000 
reserve against ? 80,000 invested in Fixed Assets. 
Stock and Debtors were 8,000 and 26,000 and 
trade and other creditors ? 4,000. To sustain the 
increase in activity stock level is proposed to be 
increased by 100% by the end of the year. 
Machinery worth ! 4,000 is proposed to be 
acquired during the year as per capital 
expenditure budget. Estimated profit for the year 
is ? 14,000 after charging ? 8,000 depredation and 
50% of profit for taxation. Advance Income-tax 
payment is estimated at ? 12,000. Trade and other 
creditors are likely to be doubled. A 5% dividend 
is to be paid and provision for 10% dividend for 
next year is to be made. Debtors are estimated to 
be outstanding for 3 months. Sales budget shows 
! 2,00,000 sales. 

Make an estimate of Cash position as at the 
end of the Budget period. 

9. The statement of marginal profit of MN Ltd. is as 
under : 

Sales (16,000 units) 	 3,20,000 
Variable Costs (? 15 per unit) 	2,40,000 

Contribution 	80,000 
Fixed Costs 	 60,000 

	

Profit 	20,000 
Calculate the profit-volume ratio and then on the 

	

basis of P/V Ratio, determine : 	 5x4=20 
(a) Sales for 40% P/V Ratio. 
(b) Break-even point in Z. 
(c) Contribution when sales amount to 

2,56,000. 
(d) Margin of safety when profit is ! 4,000. 
(e) Variable costs when sales amount to 

2,56,000. 

20 
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MASTER OF COMMERCE 

Term-End Examination 
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MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage 70% 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. What do you understand by 'Financial 
Statements' ? Discuss the utility and significance 
of financial statements for the various parties 
interested in a business concern. 	 5+15 

2. Explain trend ratios as a form of Trend Analysis. 
Give also the examples of Trend Ratio Analysis. 8+12 

3. What is cash flow statement ? Explain the various 
techniques of preparing cash flow statement. How 
does it help the management in decision 
making ? 	 5+10+5 

4. Define 'Budget and budgeting'. Discuss its utility 
and limitations. 	 6+7+7 

5. Explain the term variance. Write a short note on 
the classification of variances. 	 8+12 
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6. 	What is 'Activity Based Costing' ? How does it 
differ from traditional costing approach ? 	10+10 

7. Following are the Comparative Balance Sheets 20 
of a company : 

Liabilities 31-12-12 31-12-13 Assets 31-12-12 31-12-13 

Z Z Z Z 

Capital 7,000 7,400 Cash 900 780 

Debenturers 1,200 600 Debtors 1,490 1,770 

Trade 

Creditors 
1,036 1,184 Stock 4,920 4,270 

Bad Debts 

Provision 
70 80 Building 2,000 3,000 

P and L A/c 1,004 1,056 Goodwill 1,000 500 

10,310 10,320 10,310 10,320 

Additional information : 

(a) Dividend were paid amounting to Z 350. 

(b) Depreciation of Z 500 was provided for the 
year. 

You are required to prepare a Cash Flow 
Statement. 

8. 	An organisation manufactures two varieties of 20 
products A and B. The sales division of the 
company has three departments in different areas 
of the country. Prepare a sales budget for the year 
ended 31St December, 2013. Product A - X 
Department 3,00,000; Y Department 5,62,500; 
and Z Department 1,80,000. Product B - X 
Department 4,00,000; Y Department 6,00,000 and 
Z Department 20,000. 

Sales price is Z 6 and Z 2.40 in all 
departments. It is estimated that by forced sales 
promotion the sale of B in Department X will 
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increase by 1,75,000. It is also expected that by 
increasing production and arranging extensive 
advertisement, Department. Z will be able to 
increase the sale of B by 50,000. It is recognised 
that estimated sales by Department Y represent 
an unsatisfactory target. It is agreed to increase 
both estimates by 20%. 

9. 	From the following figures, calculate the 
break-even point in rupees as well as in units. 	10+10 

Sales 30,000 

Fixed expenses 7,500 

Direct materials 10,000 

Direct labour 6,000 

Direct expenses 4,000 

Output (in units) 1,000 
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MASTER OF COMMERCE 

Term-End Examination 
7 June, 2016 	15 71  

MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage 70% 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. What is meant by Accounting Standard ? What 
is the legal status of accounting standards in 
India ? 	 8+12 

2. Discuss the utility and significance of financial 20 
statements to various parties interested in the 
business concern. 

3. What are the different techniques of financial 
analysis ? Explain any two of them. 	 5+15 

4. What do you mean by the term 'Budgetary 
control' ? What are its advantages ? Also explain 
the statement that, "A budget is a means and 
Budgetary control is the end result". 	5+7+8 

5. Define Responsibility Accounting. Discuss its 
salient features. 	 5+15 
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6. "The technique of Marginal costing is more used 20 
to provide a reasonable and sound basis for 
managerial decisions than to arrive at product 
cost". Explain this statement with examples. 

7. Following is the summary of cash transactions 
extracted from the books of X Ltd. 	 7+7+6 

Z Z 
Balance as on 35,000 Payments to 20,47,000 
1-7-2014 Suppliers 
Receipts from 27,83,000 Payments for 2,30,000 
Customers Fixed assets 
Issue of shares 3,00,000 Payments for 1,15,000 

Overheads 
Sale of fixed 1,28,000 Salaries 69,000 
Assets 

Income tax 2,43,000 
80,000 

Dividends paid 
Repayment of 2,50,000 
Bank Loan 

32,46,000 30,34,000 

Balance as on 30-6-2015 	2,12,000. Prepare a 
Cash Flow Statement of the company for the 
period ended 30th June 2015. 

8. A manufacturing concern which has adopted 
standard costing furnishes the following 
information : 	 6+7+7 

Standard : 

Materials for 70 kg of Finished 100 kg. 
Products 
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Price of Materials 	 Z 1 per kg. 

Actual : 
Output 	 2,10,000 kg. 

Materials used 	 2,80,000 kg. 

Cost of materials 	 Z 2,52,000 

Calculate various variances in respect of Material 

Cost. 

9. A manufacturing concern has the production 
capacity of 20,000 units per annum. The expenses 
budgeted for 10,000 units for a period are listed 

below 10+10 
Per unit (Z) 

Materials 40 

Wages (50% Variable) 20 

Manufacturing Expenses (40% Fixed) 10 

Administrative Expenses (All Fixed) 5 

Selling & Distribution Exp. (60% Fixed) 5 

Total cost 80 

Profit 20 

Selling Price 100 

Prepare a flexible budget to show 70% and 100% 
levels of activity. It is expected that the present 
unit selling price will remain constant upto 60% 
activity beyond which a 5% reduction is 
contemplated upto 90% activity level. Above 90% 

1 
a 2-2- % reduction in original price is contemplated 

for every 5% increase in volume. 

MCO-05 	 3 

Download More:- https://www.ignouassignmentguru.com/papers



Tuttail.-05  

enruN-#.4 	tritich)71 '3Ertru 

	TRIAIT 

2016 

At3ft.-05 : 3r4E147 fTrizif * f n (s)tgichi 

Wig :3 Eft 
	

37~ "cT 3i :100 

wr 70% 

5)-e-: at, .6 .rew ygre * dr, er--4-47 774 744 37.WFmrq.  g, 

1. tsii.t,f mi-114 T err a-70 t ? 14T7gici.) ,-1 mi114* 
A-arrffw fmrd 47crr t ? 	 8+12 

2. v-nakiirqcn *71 14 fq7 	f--4549 	f74 20 

f491-7 f7771:111 "0' di-V.61117 iizcof tr{ mcbiqf TifF4 I 

3. f7t7 (akrla uf fdf NW' 	1:ft t? 	 
71f- t .1:Trm741 	 5+15 

4. `77-dt f9thyr 3Trtm qzrr afiTsriTr t? .Frk.  lzrr 
7rq t? " sOld 7WI1R2T3:1 'Mr 7-4-Zt fierq-ur atftrr 
trfturrgr" 71:1 TETff 	 5+7+8 

5. dl-RqPicci (")tSfIcii 	"Crkletsra w11-44 .57r-4 1(9,1 	
f-07-11.34 auk W"--44 I 	 5+15 

MCO-05 	 4 	 P.T.O. 

Download More:- https://www.ignouassignmentguru.com/papers



6. 44 44-H014i cvicf flfq "Wf3TfR 1FT 'T9 011 Ic1 	20 

cnt • -1* Aku 31-T4-1 	fa-ft 	fff4 drcict 

31-rt1rT 3r9a . .tA%-  fff4 fwziT \Tin ti" 7:1w2T -9.  

371-eul'f "Rtff otiRsql W77 I 

7. L 	fa T1 "Tie *f1i 	 Tr4 lchq 	 

	t : 	 7+7+6 

Z Z 

1-7-2014 	'Ir ttf 35,000 20,47,000 11-ffwdi3tfl ifTaTff 

mg-4*3Trtzrzfr 27,83,000 2,30,000 TtTr 	414f:cv.il*t-4 yr-d-ri 

3Mwr f91Prff 3,00,000 1,15,000 34ikoqq.1* ro4 	FT9' 

44 fivisf wr 
1,28,000 69,000 d j-r 

fdWEI' 

3-TF7 2,43,000 

80,000 "riliql ilrEd7 ft-zu 
2,50,000 ;cf.) 	-,Tr 'Wf 71ATrari 

32,46,000 30,34,000 

30-6-2015 *sr 2,12,000 I 30 17 2015 'M77 

trk al(41 ar4ft.T* fu4 wir* mss, TIT fq7{Trr 

Tit W7-4 I 

8. f9Tlical#9.IF 	NHILI C11 1 11 -fqfq 5141 .WTt t, 

14-1 	: 	 6+7+7 

"511:171 : 

70 fir. fafri-ff dcLilq* rata TITrith 100 ct)4,11. 

1:171t 'WF 	 1 vra.  fr. 

MCO-05 	 5 	 P.T.O. 

Download More:- https://www.ignouassignmentguru.com/papers



a1-, W : 

2,10,000 f-*-"M. 
371)17 	lifer 	 2,80,000 -r- Tx. 
TfTlit 	 2,52,000 

TITqlt cmicf 	Tilzfq 	fafi-T 
-A1-774 

9. 	Lcn f9Tritt ITT 	dmq-i allTaT 20,000 	5irci 

3-Tqfq- 	fi 10,000 7 -1.171) 	dcLuci 
t-4)- 	: 	 10+10 

(z) 
Tririt 	 40 
1770 (50% Li 	c4) 	 20 

fffzIfit oe-v-i (40% :9-TT) 	 10 
	 all (TA T-941t) 	 5 

f4W7217-4 f-4714 cqq (60% T-e.TT) 	5 

	

ow-f 	80 

20 

f4W4 11-7:( 	100 
(4)14 *70% -4 100% 	Ti-r1-4 
zrRt'rMITiTarlgrrit . 1:rrffNrcr7-*-rf-a-wEr 

-11-74 c,14 t-  60%7W , .14-11-1 	qlq 	 
90% 7-q.-14,4 5% 0 c 	41t'-4 	3-171 I 90% 

d)Llt 4 11 ,11 T sr 	5% tr{ 'TiFf 	21% -*-1*b 

3-11717ti 

MCO-05 	 6 

Download More:- https://www.ignouassignmentguru.com/papers



MCO-005 No. of Printed Pages : 5 

MASTER OF COMMERCE 

Term-End Examination 

December, 2016 0 3 7 15 

MCO-005 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage 70% 

Note : Attempt any five questions. All questions carry equal 

marks. 

1. Define Accounting. Describe principal objectives 8+12 
of Accounting. 

2. Explain the concept of cost and its nature. 
Distinguish between direct costs and indirect 
costs. 	 5+5+10 

3. What is Fund Flow Statement ? Examine its uses 
and significance for management. 	 8+12 

4. Define 'budget' and 'budgeting'. Discuss its utility 
and limitations. 	 6+7+7 

5. Classify the budgets on the basis of time, function 
and flexibility. 	 6+7+7 

6. What do you understand by Cost Volume Profit 
relationship ? Why is this relationship important 
in managerial decision making ? 	 10+10 
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7. 	The comparative figures of A Ltd. and B Ltd. are 
given below : 5+5+5+5 

A Ltd. B Ltd. 

Total Assets 4,00,000 6,00,000 
Total Liabilities 80,000 2, 00,000 
Proprietor's Fund 3,20,000 4,00,000 
Calculate the Debt Equity Ratio for each Company 
and Comment. 

8. Standard cost of product is : 	 5x4=20 
Time : 	 6 hours per unit 

Rate : 	 4 per hour 

Actual Cost : 

Production 	1,500 units 

Hours taken 	7,600 

Idle Time (Hours) 	400 

Total Hours 	8,000 
Total Labour cost amounted to 	40,000. 
Calculate Labour Variance. 

9. X.Co. wishes to prepare a production budget in 
respect of three products A, B and C, the sales 
forecast for which is 83,200 units 72,840 units and 
88,400 units respectively. The estimated 
requirement of inventory both at the beginning 
and at the end of the budget period are shown in 
the following schedule : 	 7+7+6 

Inventory Schedule 

Products 

A 

1st  January (units) 16,000 12,000 20,000 

31 st  December 20,800 11,160 27,600 

You are requested to draw up the production 
Budget. 
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MASTER OF COMMERCE 

Term-End Examination 10170 
June, 2017 

MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time 3 hours 	 Maximum Marks : 100 
Weightage 70% 

Note : (i) Attempt any five questions. 
(ii) All questions carry equal marks. 

1. (a) What are the financial statements ? How 4, 6 
far they are useful for decision making 
purposes ? 

(b) Write short notes on any two of the 5, 5 

following : 

Interim Dividend 

Deferred Revenue expenditure 

Appropriation of profits 

Accounting a source of financial 
information 

2. (a) What is meant by zero based budgeting ? 5, 5 
How is it different from traditional 
budgeting ? 

(b) Discuss the essentials of establishing a 10 
budgeting system. 
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3. 	Write short notes on any four of the following : 
(a) Strategic cost management 	 5, 5, 5, 5 
(b) Activity based costing 
(c) Profit Volume Ratio 
(d) Modes of Reporting to Management 
(e) Absorption Costing 
(f) Performance Budgeting 

	

4. 	(a) The operating profit after charging interest 	6 
on debentures and Tax is Z 2,00,000. The 
amount of interest is Z 40,000 and provision 
for tax has been made Z 80,000. Calculate 
Interest Coverage Ratio. 

(b) Calculate Working Capital Turnover Ratio 	4 
from the following information : 
Current Assets Z 18,00,000 
Total Sales Z 61,00,000 
Current Liabilities Z 	6,00,000 
Sales Return Z 	1,00,000 

(c) Write short notes on any two of the 5, 5 
following : 
(i) Operating Profit Ratio 
(ii) Return On Investment (ROI) Ratio 
(iii) Stock Turnover Ratio 

5. 	A manufacturing company is considering 20 
whether to buy a commodity with an annual sales 
potential of Z 2,50,000 and thereafter discontinue 
the manufacture of that commodity. 
Manufacturing costs are Z 1,75,000 while 
purchasing costs would be Z 1,87,500. Selling 
costs are Z 25,000. Administrative costs are 
? 10,000 and would be Z 2,500 less, if the 
commodity is bought. Capital requirement are 
Z 4,00,000 for making and Z 2,40,000 for buying. 
The manufacturing plant has a life of four years 
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of which three years have lapsed. A decision on 
making or buying has to be made before its 
renewal. You are required to advise the 
management on the basis of above data whether 
to buy or to make the commodity. 

Explain the managerial uses of marginal 10 
costing. 
Discuss the essential conditions for the 10 
success of responsibility accounting. 

7. What is meant by Transfer Pricing ? Discuss 
various Transfer Pricing Methods. 	 5, 15 

8. (a) How does cash flow analysis help the 10 
management in decision making ? 

(b) What are the limitations of Ratio Analysis ? 10 
Explain. 

9. The cost information provided by the cost 
accountant is as follows : 	 5, 5, 5, 5 
Sales 	 1,00,000 units 
Selling price 	Z 10 per unit 
Variable cost 	Z 6 per unit 
Fixed cost 	Z 60,000 per annum 
Compute the following : 
(a) Break even points in units and value 
(b) Make a profit of Z 40,000 
(c) Make a profit of Z 2 per unit 
(d) Make a profit of 30% on sales 
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MASTER OF COMMERCE 

MCO-005 I 

 

CT) Term-End Examination 

CD 	 December, 2017 

MC0-005 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage 70% 

Note : Attempt any five questions. All questions carry equal 

marks. 

"Fixed costs are also variable. The more you 10 
produce, the less they become fixed". 
Comment on the statement with suitable 
example. 
Distinguish between : 
(i) Product cost and period cost 	 5 
(ii) Controllable cost and uncontrollable 	5 

cost 

2. Write short notes on any four of the following. 
(a) Proprietors' funds 	 5, 5, 5, 5 
(b) Cash profit 
(c) Unit costing 
(d) Sunk costs 
(e) Process costing 
(f) Break even point 

3. 	(a) Differentiate between Fixed Budget and 	5 
Flexible Budget. 

(b) Explain the steps involved in making a 15 
sound budgeting system. 
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4. 	Informations regarding Sanjeev Ltd. are as 
follows : 	 4, 4, 4, 4, 4 

Sales 	 6,00,000 
Less : Variable costs 	 4,50,000  

contribution 	 1,50,000 
Less : Fixed costs 	 90,000 

Profit 	 60,000 

You are required to calculate : 

(a) Break-even point 

(b) P/V Ratio 

(c) Profit on sales of 9,00,000 

(d) Sales required to each a profit of 90,000 

(e) Margin of safety 

	

5. 	Write short notes on any four of the following : 4x5 
(a) Human Resource Accounting 

(b) Environment Accounting 

(c) Cash flow from operating activities 

(d) Trend analysis 

(e) Responsibility Accounting 

(f) Standard Costing 

	

6. 	Information are as follows : 	 5x4 
Standard price of material per kg 5 

Actual price of material per kg 4 

Standard quantity of material required to produce 
1 unit of output : 15 kg 

Actual quantity of Material used to produce 1 unit 
of output : 20 kg 

Actual output : 10,000 units 
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Calculate the following : 
(a) Material yield variance 

(b) Material mix variance 

(c) Material price variance 

(d) Material usage variance 

(e) Material cost variance 

7. What is meant by reporting to management ? 
What are the objectives of Reporting ? Discuss 
various types of Reports. 	 3+5+12 

8. Prepare a Cash Budget for the month of April, 20 
May and June from the following informations : 

Particulars 
Actual Budgeted 

Jan. Feb. March April May June 

Sales 8,000 7,000 6,000 8,500 9,000 8,000 

Purchases 4,000 3,000 2,500 3,000 2,500 2,000 

Wages 2,000 2,000 1000 1,500 1000 1000 

Expenses 500 600 500 800 600 400 

Additional informations are as follows : 

(a) 60% of sales and purchases are for cash. 

(b) Suppliers are paid after one month and 
credit sales one collected after two months. 

(c) Wages are paid weekly and the expenses 
are paid after one month. 

(d) Rent Z 200 pm. notincluded in expenses. 

(e) Income Tax payable in May is estimated to 
be 250. 

(f) Cash Balance on 1st April was 1500. 
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9. 	(a) Given the following information : 	 5, 5 

Credit Sales of the year 	9,00,000 

Debtors 	 2,00,000 

Bills Receivable 	 1,60,000 

Calculate : 

(i) Debtors Turnover Ratio 

(ii) Average Collection Period 

(b) From the following details, Calculate 10 
Operating Profit Ratios for 2014 and 2015. 

2014 

(Z) 

2015 

(Z) 
Sales 1,20,000 1,00,000 

Less : Cost of goods sold 42,000 36,000 

Gross Profit 78,000 64,000 

Less : Interest on Debentures 2,000 4,000 

Net Profit 76,000 60,000 
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Term-End Examination 
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	20256 

MC0-005 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

Weightage 70% 

Note : (i) Attempt any five questions. 

(ii) All questions carry equal marks. 

1. "Management accounting is nothing more than 
the use of financial information for management 
purposes." Explain this statement, and clearly 
distinguish between 'financial accounting' and 
'management accounting'. 	 10+10 

2. Identify the various bases of classification of costs 20 
and explain the various types of costs involved 
under each base. 

3. Explain the meaning and importance of fund 
flow statements, and state the usual sources and 
uses of funds. 	 4+6+10 

4. What do you understand by 'Zero Based 
Budgeting' ? State the benefits that accrue from 
it and also its disadvantages. 	 4+8+8 
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5. 	"The effect of a price reduction is always to 20 
reduce the P/V ratio, to raise break even point 
and to shorten the margin of safety". Explain 
and illustrate with examples. 

6. 	Given : 

Current Ratio = 2.8 

Acid-test Ratio =1.5 

Working Capital = 1,62,000 

Find out : 

(a) Current Assets 

(b) Current Liabilities, and 

(c) Liquid Assets 

6+7+7 

7. A company is making a loss of Z 40,000 and 
relevant information is as follows : 	 5+8+7 

Sales 1,20,000 ; Variable costs 60,000 ; Fixed 
costs 1,00,000. 

Loss can be made good either by increasing the 
sales price or by increasing sales volume. What 
are Break even sales if : 

(a) present volume of sales is maintained and 
selling price is increased. 

(b) if present selling price is maintained and the 
sales volume is increased. 

What would be the volume of sales if a profit of 
1,00,000 is required ? 
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8. Prepare a Production Budget for each month and 
a summarised Production Cost Budget for the six 
months period ending 31st December 2015 from 
the following data of product 'X'. 12+8 

(a) 	The units to be sold for different months are 
as follows : 
July 2015 1,100 
August 2015 1,100 
September 2015 1,700 
October 2015 1,900 
November 2015 2,500 
December 2015 2,300 
January 2016 2,000 

(b) There will be no work in progress at the end 
of any month. 

(c) Finished units equal to half the sales for the 
next month will be in stock at the end of 
each month (including June 2015). 

(d) Budgeted production and production cost 
for the year ending 31st December 2015 are 
as follows : 
Production (units) 22,000 
Direct materials (per unit) 10 
Direct wages (per unit) Z 4 

Total Factory overheads apportioned to products 
88,000. 
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MASTER OF COMMERCE 
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	15943 

MCO-005 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 
	

Maximum Marks : 100 
Weightage 70% 

Note : (i) Attempt any five questions. 

(ii) All questions carry equal marks. 

1. Discuss the functions and limitations of financial 
accounting. 	 10+10 

2. State the nature and objectives of financial 
statements. How far these statements are helpful 
to the parties interested to know the financial 
position of the enterprise ? 	 8+12 

3. (a) What is a Sales Budget ? Discuss the 
principal factors that should be considered 
in developing the sales budget. 

(b) Identify the three methods of preparing cash 
budget and explain any one of these in 
detail. 12+8 
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4. Differentiate between standard costing and 
budgeting. Explain the advantages of standard 
costing. 	 12+8 

5. Discuss various kinds of reports prepared by 20 
management accountant for different levels of 
management. 

6. From the following Balance Sheets of a company 
for the year ending 31st December, 2014 and 
2015, prepare schedule of changes in Working 
Capital and a statement showing sources and 
application of funds : 	 10+10 

Liabilities 2014 2015 Assets 2014 2015 
Z Z Z Z 

Share capital 3,00,000 4,00,000 Machinery 50,000 60,000 

Furniture 10,000 15,000 

Stock 85,000 1,05,000 
Sundry creditors 1,00,000 70,000 Debtors 1,60,000 1,50,000 

P & L A/C 15, 000 30,000 Cash 1,10,000 1,70,000 
4,15,000 5,00,000 4,15,000 5,00,000 

7. The following data are available from the records 
of a company : 	 10+5+5 
Sales 	 60,000 
Variable cost 	30,000 
Fixed cost 	 15,000 
You are required to : 
(a) Calculate the P/V ratio, Break-Even Point 

and Margin of Safety at this level. 

Calculate the effect of 10% increase in sale 
price. 

(c) Calculate the effect of 10% decrease in sale 
price. 

(b) 
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8. From the following information regarding a 
standard product, calculate the Labour Cost, Rate 
and Efficiency variances : 7+7+6 
Labour Rate 	 50 paise per hour 
Hours per unit 	10 hours 
Units produced 	500 
Hours worked 	 6,000 
Actual labour cost 	2,400 
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MASTER OF COMMERCE 

Term-End Examination 

C2/ 1:3  1- 	June, 2019 

MCO-05 : ACCOUNTING FOR MANAGERIAL 
DECISIONS 

Time : 3 hours 	 Maximum Marks : 100 

(Weightage : 70%) 

Note : Attempt any five questions. All questions carry 

equal marks. 

1. (a) Discuss the role of Management Accountant 

in a corporate entity. 	 10 

(b) Classify costs on the basis of controllability. 	10 

2. What are the financial statements ? How far are 

they useful for decision-making purposes ? 

Discuss 	the 	limitations 	of 	financial 

statements. 	 5+8+7=20 
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3. During the year 2017, Ram and Co. made sales 

of 4,00,000. Its gross profit ratio is 25% and 

net profit ratio is 10%. The stock turnover ratio 

was 10 times. Calculate (a) Gross Profit, (b) Net 

Profit, (c) Cost of Goods Sold and (d) Operating 

Expenses. 	 5+5+5+5=20 

4. What is a cash flow statement ? Explain the 

techniques of preparing a cash flow statement. 

How does cash flow analysis help the 

management in decision-making ? 	5+8+7=20 

5. (a) Define zero based budgeting. Explain its 

advantages and disadvantages. 	 10 

(b) "Performance budgeting requires preparation 

of periodic performance reports." Explain. 	10 

6. Define Responsibility Accounting. What are the 

uses of responsibility accounting ? Also discuss 

the essentials of success of responsibility 

accounting. 	 5+7+8=20 
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7. The following figures relate to the quantity 

of material required for the production of a 

product : 

Standard Actual 
Quantity 

(kg) 
Price 
(fl 

Amount 
(T) 

Quantity 
(kg) 

Price 
(t) 

Amount 
(T) 

A 120 20 2,400 160 24 3,840 

B 180 40 7,200 120 50 6,000 

300 9,600 280 9,840 

Compute : 

(a) Material Cost Variance 

(b) Material Price Variance 

(c) Material Usage Variance 

(d) Material Mix Variance 

5+5+5+5=20 

8. (a) What are the limitations of conventional 

financial accounting ? 	 5 

(b) Write short notes on any three of the 

following : 	 3x5=15 

(i) Environmental Accounting 

(ii) Activity Based Costing 

(iii) Human Resources Accounting 

(iv) Profit Volume Ratio (PV Ratio) 
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9. Shyam Ltd. furnishes the following data : 

Particulars Period I Period II 

Sales (T) 45,000 50,000 

Total Cost (T) 40,000 43,000 

Assuming that there is no change in price 

and variable costs and fixed expenses are 

incurred equally in the two periods, calculate the 

following : 5x4=20 

(a) Profit Volume Ratio 

(b) Fixed Expenses 

(c) Break-Even Point 

(d) Sales required to earn profit of 10,000 

(e) Profit when sale is 80,000 
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MASTER OF COMMERCE 

Term-End Examination 

December, 2019 

MCO-05 : ACCOUNTING FOR MANAGERIAL 

DECISIONS 

Time : 3 Hours 	 Maximum Marks : 100 

Note : Attempt any five questions. All questions 

carry equal marks. 

1. "Balance Sheet is a statement of assets and 

liabilities or sources and uses of capital or both." 

Comment. 	 20 

2. (a) Define budgeting and budgetory control. 

Also state the objectives of budgeting. 3, 7 

••• 
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(b) What is a Cash Budget ? How is it 

prepared 	Explain it with suitable 

example. 	 3, 7 

3. In a factory 100 workers are engaged and the 

average rate of wages is Z 5 per hour. Standard 

working hours per week are 40 and the 

standard performance is 10 units per gang 

hour. During a week in April, 2017 wages paid 

for 50 workers were Z 5 per hour, 10 workers at 

Z 3.5 per hour and 40 workers at Z 5.20 per 

hour. Actual output was 380 units. The factory 

did not work for 5 hours due to breakdown of 

machinery. 

Calculates 	 5 each 

(a) Labour cost variance 

(b) Labour rate variance 

(c) Labour efficiency variance 

(d) Idle time variance 
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4. What is meant by ,transfer Pricing ? Discuss 

various methods of Transfer pricing. 	5, 15 

5. Define reporting to management. Explain 

various objectives of reporting. What are the 

essentials of successful reporting ? Discuss. 

5, 5, 10 

6. A company producing a single product and sells 

it at Z 10 per unit. Variable cost is Z 6 per unit 

and fixed cost is Z 40,000 per annum. 

Calculate : 

(a) Break-even point in units and vane 	8 

(b) P/V ratio 

(c) Sales volume rsquired to earn a profit of 

Z 60,000 per annum 	 8 

(B-29) P. T. 0. 

Download More:- https://www.ignouassignmentguru.com/papers



[ 4 ] 
	

MC0-05 

7. The Balance Sheet of Radha Ltd. is given 

below : 

Liabilities Z 

Equity Share Capital 40,000 

8% Preference Share Capital 20,000 

Reserves 10,000 

Profit and Loss A/c 5,000 

10% Debentures 45,000 

Creditors 9,000 

Outstanding Expenses 2,000 

Provision for Taxation 3,000 

Proposed Dividend 6,000 

1,40,000 

Assets 

Land 22,000 

Building 24,000 

Plant and Machinery 38,000 

Furniture 5,000 

Debtors 22,000 

Inventory 13,000 

Cash 14,000 

Prepaid expenses 	 2,000 

1,40,000 
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Compute : 	 7, 7, 6 

(a) Debt-Equity Ratio 

(b) Proprietary Ratio 

(c) Capital Gearing Ratio 

8. What is a Cash Flow Statement ? How does 

cash flow statement differ from funds flow 

statement ? How does cash flow analysis help 

the management in decision-making ? 

	

Discuss. 	 5, 7, 8 

9. Distinguish between the following : 	5 each 

(a) Direct and Indirect costs 

(b) Product cost and Period cost 

(c) Controllable and Uncontrollable costs 

(d) Job costing and Process costing 

(B-29) P. T. O. 
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MASTER OF COMMERCE (M.COM .) 

Term-End Examination 

June, 2020 

MC0-005 : ACCOUNTING FOR MANAGERIAL 

DECISIONS 

Time : 3 Hours 	 Maximum Marks : 100 

Note.: Attempt any five questions. All questions 

carry equal marks. 

1. What do you understand by 'Financial 

Statements' ? Discuss the utility and significance 

of financial statements for the various parties 

interested in a business concern. 	8, 12 

2. What is the importance of comparative 

statements to management ? How are these 

statements prepared ? Elucidate. 	8, 12 

P. T. O. 
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3. Following are the summary of cash transactions 

extracted from the books of AB Ltd. : 	20 

? 

Balance on 1-7-2016 35,000 

Receipts from customers 27,83,000 

Issue of shares 3,00,000 

Sale of fixed assets 1,28,000 

32,46,000 

? 

Payments to suppliers 20,47,000 

Payments for fixed assets 2,30,000 

Payments for overheads 1,15,000 

Salaries 69,000 

Income-tax 2,43,000 

Dividends paid 80,000 

Repayment of Bank Loan 2,50,000 

30,34,000 

Prepare a cash flow statement of the company 

for the year ended 30th June, 2017 in 
accordance with AS-3 (revised) by direct 
method. 

Download More:- https://www.ignouassignmentguru.com/papers



I 3 	 MCO-005 

4. The following figures are available from sales 

and costs forecasts of M/s. XY Ltd. for the year 

ending 31st December, 2017 at 50% (5000 

units) capacity utilization : 20 

(i) Fixed expenses remain constant for all 

levels of production and sales. 

(ii) Selling price between 50% and 75% 

capacity is t 25 per unit. 

(iii) Semi-variable expenses will remain 

unchanged at 50% to 65% capacity but will 

increase by 10% between 65% to 80% 

capacity and by 30% between 80% to 100% 

capacity. 

(iv) At 90% level material cost increases by 5% 

and selling price is reduced by 5%. 

(v) At 100% both material and labour costs 

increase by 10% and selling price is 

reduced by 8%. 

(vi) Semi-variable expenses are t 50,000. 

(vii) Fixed expenses are t 58,000. 

P. T. O. 
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(viii) Variable expenses are 

Materials 	 5 per unit • 

Labour 	 7 2 per unit 

Direct expenses 	i per unit 

Prepare a profit forecast statement 

through flexible budget at 60%. 75%, 90% 

and 100% capacity. 

5. Explain the term 'Budgetary Control' and 

mention some of its advantages. On what does 

the success of such control depend? 	7, 6, 7 

6. What is meant by Standard Costs ? How are 

the standards fixed ? Illustrate your answer. 

6, 7, 7 

7. Define 'Responsibility Accounting'. Discuss its 

salient features. 	 10, 10 
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8. (a) X Products Ltd. produces one standard 

type of article. Their results during the last 

five months of the year were as follows : 10 

Month Output 

August 

September 

October 

November 

December 

100 units 

200 units 

300 units 

400 units 

500 units 

Prime Cost 	 ! 5 per unit 

Variable Overheads 	7 1 per unit 

Fixed Overheads 	! 36,000 per annum 

Prepare a Cost Statement on the basis of 

Marginal Costing. 

(b) From the following data of AB Ltd., you are 

required to prepare Profit & Loss Account 

in traditional form as well as in 

contribution form : 5, 5 

P. T. 0. 
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Z 

Sales 8,40,000 

Depreciation, salaries and 

other fixed costs 1,80,000 

Variable production costs 2,20,000 

Operating expenses — 

Administration 1,60,000 

Selling expenses 2,00,000 

50% of administration expenses and 60% of 

selling expenses are fixed. 

9. What is Break-even Analysis ? Discuss the 

assumptions, uses and limitations of this 

technique. 5, 5, 5, 5 
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